Rezultati tihih

vaj] OPTICNE KOMUNIKACIJE

Priimek in ime |l.vaja 2.vaja 3.vaja Vsota Ocena Napake
9.3.2017 30.3.2017 20.4.2017
1 |Bercic Ziga 6 6 7 19 37%
2 |Gabrovsek Tim 5 - - 5 0%
3 |Gruden Timotej |12 12 12 36 100%
4 |Hlavaty Rok 7 8 11 26 63%
5 |KocCevar Primoz |12 9 10 31 81% |1.1
6 |Krstev vasil 9 9 12 30 78% |1
7 |LanisSek Blaz 11 9 11 31 81%
8 |Lavric Andrej 12 9 12 33 89%
9 |oruc Gokhan 6 10 2 18 33%
10| Pirnat Luka 9 9 11 29 74%
11/ Pranjic¢ Igor 7 9 12 28 70%
12 |STemi¢ Matic 5 10 6 21 44%
13|Stirn Filip 2 8 7 17 30%
14 |Stucin GaSper 12 10 10 32 85%
15|vuk B. Kristjan 12 5 7 24 56%
max/min 12/2 12/5 12/2 36/5 }89%
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